## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM/SKJ/BITIC/JAIPUR/BE-CS-NONCOLLEGIATE/(NC/21)/2020-2021

By the order of Examination committee, the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of MARCH-2021

Date : MAY-2021

SESSION :	2020-2021 CLASS : BE-CS			BRANCH	: ENGI	NEERIN	G					SEM	ESTER /	TRIMES	STER :	NONCO	LLEGIAT	ΓE		MONTH OF EXA	M : MARO	CH-2021
ROLL NO	NAME	U L	CSe	5107(3)	-		-			-		-							TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25016/12	MUDIT AGARWAL	U	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	
BE/23010/12	MODITAGARWAL	L	-	-	-	-	-		-	<u> </u>	-	-		-	-	-	-	-	15.0	3.0	5.00	-
CS6107(3)	: COMPUTER NETWORKS					-			:													
-	<u>:</u>					-			:													
-	:					-			:											- Wa		
-	:					-			:											· Q-		
-	:					-			:											Controller of Exam	inations	

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

### BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: MAY-2021

Reference: EXAM / SKJ / BITIC / JAIPUR / BE-EC-NONCOLLEGIATE / (NC/21)/ 2020-2021

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of MARCH-2021

SESSION :	: 2020-2021 CLASS : BE-EC			BRANC	Ή :	ENGINE	ERING				SEM	IESTER	/ TRIM	ESTER	: NOI	COLLE	GIATE		MONT	H OF EXAM	: MARC	H-2021
ROLL NO	NAME	U L	BT3	021(3)	CH14	401(3)	CH22	203(3)	EC42	207(3)	EE22	201(4)	HU1	101(3)	ME20	001(3)	PH12	201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25179/13	Prakash Kumar	U	С	15.0	С	15.0	С	15.0	С	15.0	С	20.0	С	15.0	С	15.0	С	20.0	130.0	26.0	5.00	_
BL/231/9/13	i iakasii Kuillai	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	150.0	20.0	5.00	_

BT3021(3)	: BIOLOGICAL SCIENCE	-	:
CH1401(3)	: ENGINEERING CHEMISTRY	-	:
CH2203(3)	: ENVIRONMENTAL SCIENCE	-	:
EC4207(3)	: ELECTROMAGNETIC THEORY	-	:
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	-	:
HU1101(3)	: TECHNICAL ENGLISH	-	:
ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING	-	:
PH1201(4)	: PHYSICS	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM/SKJ/BITIC/JAIPUR/BE-EC-NONCOLLEGIATE/(NC/21)/2020-2021

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of MARCH-2021

Date : MAY-2021

SESSION :	2020-2021 CLASS : BE-EC			BRANCH	: ENGIN	NEERIN	G					SEM	ESTER /	TRIMES	TER :	NONCO	LLEGIAT	Έ		MONTH OF EXA	M : MARG	CH-2021
ROLL NO	NAME	U L	EC	3201(4)	-		-				-			-			-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25123/16	Anuj Bohra	U	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	
BE/23123/10	Aliuj Bolila	L	-	-	-	-	-	-			-	-	-	-	-	-	-		20.0	4.0	5.00	-
EC3201(4)	: DIGITAL ELECTRONICS								:													
-	:				-				:													
-	:				-				:											SINO		
-	:								:											- Ori		
-	:				-				:											Controller of Exam	inations	
	:				-				:											Controller of Exam	macions	

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

### BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: MAY-2021

Reference: EXAM / SKJ / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (NC/21)/ 2020-2021

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of MARCH-2021

SESSION	: 2020-2021 CLASS : BE-EE		F	BRANCH	: EN	NGINEER	ING				SEMES	TER / TR	IMES	ΓER	: NON	COLL	EGIAT	ΓE	MON	TH OF EXAM	: MAR	CH-2021
ROLL NO	NAME	U L	CH1	401(3)	EE22	201(4)	EE4	207(4)		205(4)	PH1	201(4)		-				-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25129/14	PAPPALA ANMISH	U	С	15.0	С	20.0	С	20.0	С	20.0	С	20.0	-		-	-	-	] -	95.0	19.0	5.00	
BE/23129/14	TATTALA ANMISTI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	95.0	19.0	3.00	_

CH1401(3)	: ENGINEERING CHEMISTRY	-	:
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	-	:
EE4207(4)	: DIGITAL SIGNAL PROCESSING	-	:
EE6205(4)	: INDUSTRIAL DRIVES & CONTROL	-	:
PH1201(4)	: PHYSICS	-	:
-	:	-	:
-	:	-	:
_	:	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

# BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / SKJ / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (NC/21) / 2020-2021

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of MARCH-2021

Date : MAY-2021

SESSION :	: 2020-2021 CLASS : BE-EE			BRAN	CH : E	NGINEER	ING					SEMEST	ER / TRIM	MESTER :	NONCO	LLEGIATE			MC	ONTH OF EXAM	: MARCH	-2021
ROLL NO	NAME	U L	CH1	401(3)	CH2	203(3)	EE2	201(4)	EE42	203(3)	EE5	205(4)	HU4	001(3)	ME	2001(3)			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25197/12	RANJAN YADAV	U	С	15.0	С	15.0	С	20.0	С	15.0	С	20.0	С	15.0	С	15.0	-	-	115.0	23.0	5.00	
BE/2319//12	RANJAN IADAV	L	-	-	-		-	-	-	-	-	-	-	-	-	-	-	- 1	113.0	23.0	3.00	_

CH1401(3)	: ENGINEERING CHEMISTRY	-	:
CH2203(3)	: ENVIRONMENTAL SCIENCE	-	:
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	-	:
EE4203(3)	: ELECTRICAL MACHINE I	-	:
EE5205(4)	: POWER ELECTRONICS	-	:
HU4001(3)	: FOREIGN LANGUAGE (FRENCH)	-	:
ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING	-	:
-	:	-	

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

# BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / SKJ / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / NC/21 / 2020-2021

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of MARCH-2021

Date : MAY-2021

SESSION :	2020-2021 CLASS : BE-EE			BRANCH	: ENG	INEERING					5	EMEST	ER / TRI	MESTER	R : NO	NCOLL	EGIATE			MONTH OF EXAM	M : MARC	H-2021
ROLL NO	NAME	U L	EE3	207(3)	EE5	205(4)	EE5	207(3)							-				TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25092/16	manthan sharma	U	С	15.0	С	20.0	C	15.0	-	-	-	-	-	-	-	- 1	-	- 1	50.0	10.0	5.00	
BE/23092/16	mantnan snarma	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	i - 1	30.0	10.0	3.00	-

EE5207(3) POWER SYSTEM – I

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinces. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer